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11-6
Consider the far-field diffraction pattern of a single slit of width 2.125μm when illuminated normally by a collimated beam of 550-nm light. Determine (a) the angular radius of its central peak and (b) the ratio 
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at points making an angle of θ=5°,10°,15°,and 22.5° with the axis.
Sol:
   (a)

     
[image: image2.wmf]°

=

¸

°

=

=

´

=

=

D

85

.

14

2

7

.

29

7

.

29

518

.

0

125

.

2

550

2

2

rad

n

b

m

l

q


(b)

     
[image: image3.wmf]rad

rad

rad

rad

kb

645

.

4

1415

.

3

1077

.

2

0579

.

1

sin

2

1

5

.

22

15

10

5

=

=

=

=

=

°

°

°

°

b

b

b

b

q

b

                
[image: image4.wmf]0461

.

0

/

10

70

.

8

/

166

.

0

/

678

.

0

/

0

5

.

22

10

0

15

0

10

0

5

=

´

=

=

=

°

-

°

°

°

I

I

I

I

I

I

I

I


_1240636332.unknown

_1240636593.unknown

_1240637492.unknown

_1240606087.unknown

